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Diff03 Answers for No.10385 )
I=(f(x)=45(5x—4)%) .2:(f(x):7(2x2+2x+9)6(4x+2))
3 (f‘( ) > ] 4= f(x) 3540
3= X)=—"F— 4= X)=—""
24/—6+5x (527 +3)
Ansl = 7(8x+2) 7
S=|f(x)=- : 6=|1(x)= s
2x*+2x+7) 2(3-7x)
, X [ 237(6x+7)2]
T=(f(x)=18(6x+7)  (7Tx=5)+7(6x+7)) S=|f(x)=- y
L (7x-5) i
[ 1_{@_ 96 1 } M
Sl dar 2 ¢
1=[F(k)=14] A =[F(k)=1840] dp(6+2t2) /2
_| 7 - _ 1760 _ I
Ans2 [.2:[F'(k)=-8]}’ Ans3 .ZZ[F'(k)zg—l}’ Ans4 ,2_{dx_ﬁ} ol @
M
.3:[M, 0.393} U
i 961 Iy
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Diff03 Answers for No.10387

J=(f(x)=45(5x+3)") .2:(f(x):7(2x2+2x+9)6(4x+2))

3 (f() 4 ) 4 (f() 18 ]
3=f(x)=—"FT— A=f(x)=—""+
VT -8x (32°+8)

Ansl = 5(4x+7) 5
-5=[f(x)=— 6} .6:[f(x)=—ﬁ]
(2x*+7x-7) (4x-5)
3 2 ( 3(5x+8)
T=(f(x)=5Bx+5)+9(5x+8)(3x+5)) S=|f(x) =1
- (3x+5) |
1_{@_ 281 } 1 M
Cldr 2 ¢
1=[F(k)=-30] 1= [F(k)=276] 20 2
=15 _ = 17 _ _|ar 4
Ans? [.2=[F’(k):48]}’ Ans3 _2:[F.(k):?} , Ans4 _{dx_ﬁ} e
M
3= [M 0.302} U
i 243 J |7
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Diff03 Answers for No.10914
d=(f(x)=50(=2+5x)) .2:(f(x):5(2x3+3x—3)4(6x2+3))
3 (f() ) ] 4 (f() 12 ]
3=|f(x)=—F—= A=|f(x)=—""""7=
VOx=3 (2x°-3)
Ansl = 6(6x+4) 2
S=|f(x)=- - b=t ="737
(3x°+4x+4) (7—-4x)
X ) [ 172(3x+7)3]
T=(f(x)=12Bx+7P (Tx+2)+7 B x+7)") 8= f(x)=- .
L (7x+2) i
— — _M_
x 36¢ a
1=[F(k)=970] '1{7_(3 2)2} !
[1=[F(k)=14] T B B i h
Ansz_[2=[F'(k):-84J’ Ans3 = .2=[F’(k)=4£}’ Ansd=| _|4P_4 | | @
32 dx ﬁ M
3=[4/2,1.414] U
L 7]
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Diff03 Answers for No.10945

Ansl =

X [Page = 0019]

AnSZ:["Z:[F,(k):_ﬂ}, Ans3 = e

I=(f(x)=153 x+2)")

2
3I=|f(x)=——F7—
( ) q/3—4xJ

3(8%° +3) J
(2x4+3x—3)4

= {f‘(x) =

T=(f(x)=28(Tx-4Y Bx+7)+3(7Tx-4)"

= [F'(k)=720]

1=[F(k)=0] 144
ey
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2=(f(x)=7 (2% +2x+5)6(4x+2))

[ 20 x°
=t =-—
(5x —3)

(5- 8x)(3/2)J

O=|1f(x)=
244 (7 x — 4
S=|1f(x)=
(3x+7)
‘] {dx 14 ¢ } M
=| - = a
2
d (1+7) t
dP 2 h
AnS4= 2: - =" 5 s
[dx ﬁ} @
M
742
.3:{[[,0.030} U
L 125 i T

),0:9:9.0:9:9.0,9:9.0:9:9.:9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.9,0:9.9,0:9:9.0:9:9.0,0:9.0.9:9.0.9:9:0.0:9.:0,0:9.:9,0:9:9.0:9:9.0,9:9.9.0:9.:9,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXXKXKKXKKX KKK KKK KKK KKK KKK KKK KKK XKXKKXKM6/1-6800507-00020XX

Diff03 Answers for No.10954
d=(f(x)=30(5x-4)) .2:(f(x)=5(4x3—3x—3)4(12x2—3))
3 (f() S ] 4 [f() _ 5 }
J = X)= 4 = x)=—
243X =7 (55 +8)
Ansl = 6(4x+2) 5
.5:(f(x)=— 7} -6:(“’5):_ (3/2)}
(2x*+2x+5) 2(-2+5x)
X ) [ 87(7x+5)2]
T=Ff(x)=7Bx-2)Y+9(7x+5)(3x-2)) S=f(x)=—""""7,"
L (3x-2) i
2] [
Sl dar 2 ¢
1=[F(k)=12] 1= F(k)=2310] dP(1+1t2) 12
|17 = - 1085 - B
Ans2 [2:[1:'(/():24]}’ Ans3 .2=[F’(k)=3—2}’ Ansd _{dx_ﬁ} "l @
s M
.3:[4—, 0.358} U
L 25 l 7]
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Diff03 Answers for No.10966

1=(f(x)=42(7x-8)") 2=(R(x)=5 (42 ~3x-3) (122-3))
3 (f() > ] p (f() 28 x° ]
D= X)=——" —— 4= Y)= o ———————
24/7-5x (4x7+5)2
Ansl = 4(6x2+2) ;
D= ) == 5 b= 1f(x)=- (3/2)
2x +2x+7) 2(7x-2)
4 3 [ 4(7x+6)
T=(f(x)=7(6x+5)" +24(7x+6)(6x+5)) 8= f(x)=-———2
- (6x+5) ]
_1_{@_ 301 } M
Sl ar 2 ¢
1= [F(k)=-24] 1 = [F(k)=336] dP(3+4f2) 2
=", - = 32 R R
Ans2 [.2:[F'(k)=0] } Ans3 .ZZ[F.(,{):?} | Ansd '2_[dx_ﬁ} e
L) |
3= 1.291 U
i 3 17
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Diff03 Answers for No.11154

I=(f(x)=18(2x-7)%) .2:(f(x):5(2x3+2x+9)4(6x2+2))—
3 (f() ] ) 4 (f() 28 ]
S=f(x)=—""F——= A=1(x)=—"T—"7
2y8-3x (Tx*+3)
Ansl = 3(6x°+7)
S=f(x)=- ; b=1(x)= (3/2)
22X +7x=17) 2(6-5x)
) X ( 76(2x—3)3J
T=(f(x)=2(3x+5)+12(2x-3)(3x+5)) S=|f(x)="—"""7
L (3x+5) i
‘]_{@_ 701 } M
|oar 2 ¢
1=[F(k)=-28] A =1F(k)=210] dP(5+2t2) /i
_|1= =" _ 30 _ | =
2= T 2= ro=T || 'Q‘sz‘ﬁ} @
] |
- . 0.550 U
i 63 117
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Diff03 Answers for No.11191

I=(f(x)=273x+7)%) .2:(f(x):5(2x3+2x+9)4(6x2+2))
3—(f( )—;J o= pery 285
o ¥ _'\/—5+2X - e (4X7—3)2
Ansl = 4(4x+2) 5
.5:[f(x)=— SJ 6:(f(x): (3/2)]
22X +2x+7) 2(3-5x)
X ) [ 148(7x+2)3j
T=(f(x)=28(7x+2) (8x=3)+8(7x+2)") §=|f(x)=—- p
L (8x-3)
I v 24 | M
JZ{E: 22} a
1=[F(k)=14] AL =340) w2
N - = 95 = | — = —
Ans2 [.22[F'(k)=0]}’ Ans3 .2:[1:,(]{):;} , Ans4 '2_{dx_ﬁ} ol @
4 M
3—{—,1.333} U
L 3 7]
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Diff03 Answers for No.11309

I=(f(x)=44 (-3 +4x)")

.2=(f(x):3(2x3+2x+11)2(6x2+2))

3 (f() B ] 4 (f() _ 200 ]
3= f(x)= 4=|f(x)=—
245x=8 (5x*+2)
Ansl = 4(6x-5) 7
.5:(f(x)=— SJ ,6:(f(x): (3/2)]
(3x*=5x+5) 2(5-7x)
) . [ 410(7x—8)4]
7 =(f(x)=35(Tx-8) (5x+6)+5(7Tx—8)) 8=|f(x)= -
L (5x+6)
T Tax 42 | M
.]:{;:j} a
1=[F(k)=-8] A= F(k) =-100] dP(3+3t) /i
_|1= =" _ 100 I O
Ans2 [2=[F’(k):84]}’ Ans3 .2:[1:'(/{):?}’ Ansd -2—{&,}6—&} "l @
Bas] | |
3=|—, 2571 U
i 7 17
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Diff03 Answers for No.12483

.2=(f(x)=7(2x3+2x+9)6(6x2+2))

( 42 % ]
A=[f(x)=—-—"
(7x°+5)

I=(f(x)=36(4x+5)")

=

X

[Page

Ansl = 3(8x°-5)
S=1f(x)=- , b= f(x)=- (3/2)
(2x'=5x-5) 2(7x-4)
s , ( 54 (5x—4)
T=(f(x)=5(Tx=2)P +21 (5x—4)(Tx-2)) S=|fx)=—""""1
L (7x-2) i
I{d_s_} v
Sl dr 2 “
1=[F(k)=32] A =[F(k)=730] dP(1+3t2) /2
A”SZZ[.zz[F'(k)zzz]}’ Ans3 = .2:[F'(k):%}’ Ans4 = .ZZ[E:ﬁ} @
2L oon]] |0
3=|——,0.034 U
i 125 117
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Diff03 Answers for No.12557
d=(f(x)=22(2x+5)")

7
I=|f(x)=——FT—
( ) 2«/4—7x]

4(6x°—7) ]

5
2xX=Tx=17)

Ansl = [
S=|f(x)=-

T=(F(x)=8(7x-5Y+21 (8x+7)(7x-5))

0026]

X [Page

.2=(f(x):6(2x4+2x+11)5(8x3+2))

( 20 x°
A4=f(x)=-

(5x4—3)2

|

.6:(f(x)=—
2(7x-28)

267 (8x+7)°

f(x)=—

.|

I de 12t
s
= [F(k)= -14] 1 =[F(k)=462] dP(2+1t)
AnsZz[' i ' i_ }, Ans3=| _ | 201\ Ans4= ,2:[—:—}
2=[F(k)=-64] .2_[1:(/()_—32} PN

b

, 0.019}
867

(7x-5)"

7
(3/2)

|
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X

Diff03 Answers for No.12637

d=(f(x)=10(2x+5)") 2=(f(x)=7(2x" +2x+5)6(8x +2))
; (f( : 4 ] ( 35 ]
= X)="TFT7—7"— =
’VSX—3 (7x _5)
Ansl = 5(8x°+2)
=| flx) =~ 6 6= = Gy
(2x'+2x+5) (5-4x)
\ ) ( 44 (3x— 4))
T=(f(x)=12Bx-4Y (5x-3)+5(3x-4)" - -
L (5x-3)
]_{d__ 301 } M
A= dt—— > a
R = 16] 1 =[F(k)=1332] P(S”) 2
e - - 1548 _ a2
Ans2 [2:[1:,(]{):50]}, Ans3 = [F(k)— . }, Ans4 {d x} | @
2 M
:[5—0087} U
L . _T_
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X

Diff03 Answers for No.12689

d=(f(x)=153 x+8)")

.2:(f(x)=5(2x3+2x+5)4(6x2+2))

3 (f() > ] ) (f() 215 ]
D= X)=F/—— 4= x)=—
A 6x—17 (3x7—2)2
Ansl = 6(8x° +2) 5
d=| == 7 6= F(x) =~ (3/2)
2x*+2x+7) 2(=6+5x)
3 4 ( 16(3x+4)3J
T=(F(x)=123x+4) (7x+8)+7(3x+4)") 8=|f(x)=——"————
- (7x+8)
¥ {@ 24 ¢ } M
T ar 2 ¢
1 =[F(k)=-84] 1 =[F(k)=462] dP(3+2t2) 2
=", _ B - 54 _ 4P 2
Ans? [zz[F'(k):-%J’ Ans3 .ZZ[F.(,{):7} , Ans4 g_bx_ﬁ} e
19 M
=[24 ,0.290} U
i 361 I
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Diff03 Answers for No.13349
d=(f(x)=64(8x+3))

5
I=|f(x)=—F—
( (x) 2«/5x—3]

X [Page = 0029]

Ansl = [ 7(8x° +2) ]
S=|f(x)=- -
2x'+2x+7)
7=(f(x)=24(8x+3)(5x—8)+5(8x+3))
1 =[F(k)=680]
[ 1=[F(k)=-16] ~
Ansz_[Zz[F'(k):M]}’ Ans3 = .2:[1:'(/():%

.2=(f(x):4(3x4—5x—5)3(12x3—5))
42 58 ]

2
(6x +7)

: ]
(3/2)
2(2-5x)

237 (8x+3)°
(5x—238)"

4= (f(x) =—

.6=(f(x)=

)

.8=[f‘(x):—
[ dx 16¢ ] I
P
2]
T dx_ﬁ S

2
3= [—, 0.016}
125

} , Ans4 =

NQEX® >~ X
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Diff03 Answers for No.13519
d=(f(x)=21(3x+5)°) 2=(f(x)=62x"+2x+7) (8x° +2))
30 x°
= f(x)=———

1
3=|f(x)=—F——=
((X) q/—5+2xJ
4(16x°—7) J (
- -
(4x'=7x+7)

2
(5x6+6)

(3/2)]

2(6-7x)

[ _100(7x- 2)]
(2x+3) )

Ansl = {
S=|f(x)=-

T=(f(x)=28(7x=2Y (2x+3)+2(7x-2)"

)
Anszz[‘JZ[Fv(k):'%]} Ans3 = ']:[F'(k)_?g(s)] Ansd = —{d—P(?,zj 2
2=[F(k)=48]7 [F(k)— 16}’ ;ﬁhx o %
i :{ 169 ’0'2411 0
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Diff03 Answers for No.14276

d=(f(x)=48(8x+7)) .2:(f(x):5(3x2—4x—4)4(6x—4))
3 (f() ’ ) 4= f(x) 254
3= X)=—" / — 4= X)=—""
24/4-7x (55°-7)
Ansl = 7(6x°+2) 1
S=|f(x)=- ; b= f(x)=—""7373
(2xX°+2x+5) (2x-3)
\ ) [ 188(3x+7)3]
J=(f(x)=12(3x+7) (8x+3)+8(3x+7)" S=|f(x)=- p
L (8x+3)
'1_{@_ 20 1 } M
Sl ar 2 ¢
= [F() = 8] 1 =[F(k)=1330] dP(5+3t2) ;,
= = . 615 - B
Ans2 [.Zz[F'(k):O]}’ Ans3 -ZZ[F'("):TJ . Ans4 '2_{dx_ﬁ} @
]| |0
3= ,0.107 U
i 81 I 7]
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Diff03 Answers for No.14380

I=(f(x)=25(5x-7)") .2=(f(x):4(2x4+2x+5)3(8x3+2))—
4
.3=(f(x):—;J .4—(f(x)—40—x2]
2'\/4—5)(? (8X5—3)
Ansl = 3(6x°+2) 4
S=|f(x)=- ., b=\ ="
(2xX°+2x+5) (7-8x)
) X ( 52(6x+5)3J
T=(f(x)=6(5x+2) +20(6x+5)(5x+2)) 8= f(x)=-"""7"
L (5x+2) i
[ ]_{ﬁ_ 60 ¢ } M
Tl dr 2 ¢
1=[F(k)=60] A= [F(k)=390] dP(5+4t2) /i
Ansz:[.Z:[F'(k):-48]}’ Ans3 = .2=[F'(k)=%}’ Ans4 = .ZZ[E:ﬁ} @
M
.3:[M, 0.373} U
i 1681 Iy
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Diff03 Answers for No.14393 )
d=(f(x)=55(5x-4)"") .2:(f(x):7(2x2+2x+11)6(4x+2))
3 (f() 4 ] 4 (f() 5621 ]
J= X)=—"fpF— 4= X)=—"~—
V3 -8x (857 +7)
Ansl = 5(4x+2) 5
.5:(f(x):— 6} .6={f(x):— (3/2)]
2xX*+2x+7) 2(5x-8)
, X ( 111(3x+7)2J
T=(f(x)=9Bx+7)V (1x+4)+7(Bx+7)) 8=|f(x)=- y
L (7x+4) i
‘] {dx 16 ¢ } M
A= "T=""""7 a
dt (2+t2)2 t
_ .1:[F'(k)=48]} {.1:[1?(/@:24]} _ |ap 1 h
Ans2 [.2:[F'(k)=-4] , Ans3 2= [F(k)=8] Ans4 _2_{dx_ﬁ >l @
M
3:[@,0.022} U
i 2601 I 7]
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